7/2 ()

BELAE 7/29=° (EI |

=
21 4
-

:

gocaxihi i

LS ETE 1950

#160g%x 1E (B ffifE2,106F)
PRE#2=<2,000E —wiie| 1 900w

BB RERT LBV ETEREDTFOESEOLET, X
(BiiAfHitg2,149H)
TJOHXIWWESZTDIBTESIE, %Eb‘%?( :ﬁiij‘!

AS-
p.

AVHhZHVELEDBZT

%fiE5| &!




VIT7EE 3%

— s
2’920|IJ 2,98OF':J

(FHAMHE3,153M)  (BHAMEE3,218M)

FEIE 5 %4 ¥#9140g- EES#950g £/ 1A §

RitIE - oS - HEENE - EFIE
s - J\BJE - B A O

55:E N—7

BRERESLEEFER

T

‘ -3

— R

1,450m 1 480w

(BAfME1,566M) (FHAMig1,598M)

=533 Ul R

BRBRESLEER

— R

2,528m 2,580x

(BAMI82,730M)  (BHAMig2,786M)

#980g

#9160g

& B o

TROEIIZNTHRIY!
FLEFRWABEFDXT—FD
MANoTIET2ESW!

-»

@ BRESERE #4 1,950/ [#¢5 1,990/
e B B8 () SEREL #9160g B2 2,106 /@ | B2 2,149
A Fi& - FHET BE || D BRESRE #t 1,450/ [k 1,480/
i S1FE/N—T K80g w2 1,566 /| H2 1,598
B % A ©) EBRERE #tk 2,528 [+ 2,5801
3 SIREM160g B2 2,730 /| B2 2,786 @
STEROBELBI LT FREXEO SBREA ETHE S I TEES A #tk 2,920/ [+ 2,980H
L S ETOTIER(RE e Ft- g2 LR AR EHA0EEE | B2 3,153 m| #52 3,218 @

Y EILDGEEE] DIAFIETICTEHEL LT S BELWE 3 5 3 g

0;"%13;\“7‘:7‘:“2?i?‘{[ﬁil/\’l%ib’dets fgﬁ@ﬁﬁ:ﬁléiﬁbd)ﬁﬁ‘(}uﬂlgﬂﬁﬁﬂlbiﬁh RERBLEAHRAROBZILNESENLET, =
___________________________ ;\: I) '\ I) ——— e -

@ BRERE #4k 1,950/ [#¢5 1,990/
. A B () SIRERER $160g #2 2,106 m| B2 2,149 @
= £k - R w2 || (3) BRSRE #¢ 1,450/ [#4 1,480/
Y SHE/N—7 #80¢g #2 1,566 m| B2 1,598 @
& % # i ©) BRERE &tk 2,528 &k 2,580
SIRE #160g B2 2,730 /| B2 2,786 @
EEES ( ) @ YIIBEIEE ¢k 2,920 [tk 2,980/
- it T #8 L5\ BLA0MEE | 2 3,153m| B2 3,218

CHERR & &




